



Yuki Matsubara

Erratum

Erratum to: On the cohomology of the moduli space of parabolic connections

Published online: 15 January 2021

Correction to: manuscripta math.<https://doi.org/10.1007/s00229-019-01161-6>

In the proof of Theorem 1.1 in [4], there are two mistakes that are explained in Remark 4, and therefore the vanishing of the first and the second cohomologies in Theorem 1.1 is still open. We mention that all other results in [4] still hold. We should restate Theorem 1.1 as follows. We recall that the coarse moduli space $M(d)$ of ν - $s/2$ -parabolic connections on $(\mathbb{P}^1, t_1 + \cdots + t_5)$ of degree d has a stratification

$$M(d) = M(d)^0 \cup M(d)^1,$$

where $M(d)^k$ denotes the subvariety defined in [4, 2.4]. For simplicity, let us denote $Z = M(d)^1$, and $M(d)^0 = M(d) \setminus Z$.

Theorem 1. 1. *We have*

$$H^i(M(d), \mathcal{O}_{M(d)}) = \begin{cases} \mathbb{C}, & i = 0, \\ 0, & i > 2. \end{cases}$$

2. *If the following connecting homomorphism of cohomology groups*

$$\delta : H^1(M(d)^0, \mathcal{O}_{M(d)^0}) \longrightarrow H^2_Z(M(d), \mathcal{O}_{M(d)})$$

is an isomorphism, we have $H^i(M(d), \mathcal{O}_{M(d)}) = 0$ for $i = 1, 2$, and conversely.

In the process of the proof of Theorem 1, we have the following

Proposition 2. *We have*

$$H^i(M(d)^0, \mathcal{O}_{M(d)^0}) = \begin{cases} \mathbb{C}, & i = 0, \\ 0, & i > 1. \end{cases}$$

Remark 3. In general, $\dim H^1(M(d)^0, \mathcal{O}_{M(d)^0}) \neq 0$.

The original article can be found online at <https://doi.org/10.1007/s00229-019-01161-6>.

Y. Matsubara: Department of Mathematics, Graduate School of Science, Kobe University, 1-1 Rokkodaicho, Nada-ku, Kobe 657-8501, Japan e-mail: ymatuba@math.kobe-u.ac.jp

Proof of Theorem 1. By the local cohomology theory, there is a long exact sequence

$$\begin{aligned}
 0 &\rightarrow H_Z^0(M(d), \mathcal{O}) \rightarrow H^0(M(d), \mathcal{O}) \rightarrow H^0(M(d)^0, \mathcal{O}) \\
 &\rightarrow H_Z^1(M(d), \mathcal{O}) \rightarrow H^1(M(d), \mathcal{O}) \rightarrow H^1(M(d)^0, \mathcal{O}) \\
 &\xrightarrow{\delta} H_Z^2(M(d), \mathcal{O}) \rightarrow H^2(M(d), \mathcal{O}) \rightarrow H^2(M(d)^0, \mathcal{O}) \\
 &\rightarrow H_Z^3(M(d), \mathcal{O}) \rightarrow H^3(M(d), \mathcal{O}) \rightarrow H^3(M(d)^0, \mathcal{O}) \\
 &\rightarrow H_Z^4(M(d), \mathcal{O}) \rightarrow H^4(M(d), \mathcal{O}) \rightarrow H^4(M(d)^0, \mathcal{O}) \\
 &\rightarrow 0.
 \end{aligned} \tag{1}$$

By [1, Theorem 1(ii)], we have that $H^i(M(d), \mathcal{O}) = 0$ for $i > 2$. Since Z is a locally complete intersection in $M(d)$ and $\text{codim}_{M(d)}(Z) = 2$, we have that $\text{depth}_{I_Z}(\mathcal{O}) \geq 2$, where I_Z is the ideal sheaf of Z . Therefore, we get $H_Z^1(M(d), \mathcal{O}) = 0$ by [3, Theorem 3.8]. Now the theorem follows from Proposition 2. \square

Remark 4. In the proof of Theorem 1.1, there are two mistakes.

1. We found that the action of \mathfrak{S}_2 is not commutative with Leray’s spectral sequence. Therefore, the action of \mathfrak{S}_2 on higher cohomologies is highly non-trivial, and a detailed calculation is needed.
2. The subscheme $Z = M(d)^1$ has codimension 2 in $M(d)$ and it is isomorphic to \mathbb{A}^2 . Therefore, we ignored the contribution of the local cohomology $H_Z^2(M(d), \mathcal{O})$. However, in general, $\dim H_Z^2(M(d), \mathcal{O}_{M(d)}) \neq 0$. It is explained as follows. From [3, Theorem 2.8], we have that

$$\lim_k \text{Ext}^i(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O}) \xrightarrow{\sim} H_Z^i(M(d), \mathcal{O}),$$

where \mathcal{I}_Z is the ideal sheaf of Z . Furthermore, there is a spectral sequence

$$E_2^{p,q} = \lim_k H^p(M(d), \mathcal{E}xt^q(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O})) \Rightarrow \lim_k \text{Ext}^i(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O}).$$

Let us consider $H_Z^2(M(d), \mathcal{O})$. From the above discussion, we have that

$$H_Z^2(M(d), \mathcal{O}) \simeq \lim_k \text{Ext}^2(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O}) = \bigoplus_{p+q=2} H^p(M(d), \mathcal{E}xt^q(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O})).$$

Moreover, since $\text{supp}(\mathcal{E}xt^q(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O})) = Z$ and $Z \simeq \mathbb{A}^2$, we have

$$H_Z^2(M(d), \mathcal{O}) \simeq \lim_k H^0(Z, \mathcal{E}xt^2(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O})).$$

Therefore, $H_Z^2(M(d), \mathcal{O}) = 0$ if and only if $\mathcal{E}xt^2(\mathcal{O}/\mathcal{I}_Z^k, \mathcal{O}) = 0$ for $k \gg 0$. We have not known yet whether this is zero or not.

All other results in [4] still hold.

Remark 5. We do not know whether the connecting homomorphism δ in the sequence (1) is an isomorphism or not. Therefore, the vanishing of the cohomologies $H^i(M(d), \mathcal{O}_{M(d)})$ for $i = 1, 2$ is still an open problem.

Keeping the notation in [4], we prove the Proposition 2. We can suppose that $d = -1$. Denote by W the product of the surfaces $\mathbb{F}_3 \times \mathbb{F}_3$, by T the divisor $D \times \mathbb{F}_3 + \mathbb{F}_3 \times D + \mathbb{F}_3 \times_{\mathbb{P}^1} \mathbb{F}_3$ on W , and by Δ the diagonal of W . Also, denote by $\varphi : \tilde{W} \rightarrow W$ the blowing-up along Δ , and by E the exceptional divisor. We denote by \tilde{T} the strict transform of T . Let us compute the cohomology of $U := \tilde{W} \setminus \tilde{T}$.

By the local cohomology theory, we have a long exact sequence

$$\begin{aligned}
 0 &\rightarrow H^0_{\tilde{T}}(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^0(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^0(U, \mathcal{O}_U) \\
 &\rightarrow H^1_{\tilde{T}}(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^1(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^1(U, \mathcal{O}_U) \\
 &\rightarrow H^2_{\tilde{T}}(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^2(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^2(U, \mathcal{O}_U) \\
 &\rightarrow H^3_{\tilde{T}}(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^3(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^3(U, \mathcal{O}_U) \\
 &\rightarrow H^4_{\tilde{T}}(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^4(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^4(U, \mathcal{O}_U) \\
 &\rightarrow 0.
 \end{aligned}
 \tag{2}$$

Since \tilde{W} is a nonsingular projective rational variety, we have

$$H^i(\tilde{W}, \mathcal{O}_{\tilde{W}}) = \begin{cases} \mathbb{C}, & i = 0, \\ 0, & i > 0. \end{cases}$$

Again by the local cohomology theory, we have $H^i_{\tilde{T}}(\tilde{W}) = \varinjlim H^{i-1}(\tilde{T}, N_{n\tilde{T}})$. There is a short exact sequence

$$0 \rightarrow \mathcal{O}_{\tilde{W}} \rightarrow \mathcal{O}_{\tilde{W}}(n\tilde{T}) \rightarrow N_{n\tilde{T}} \rightarrow 0,$$

which induces the following exact sequence

$$\begin{aligned}
 0 &\rightarrow H^0(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^0(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) \rightarrow H^0(\tilde{T}, N_{n\tilde{T}}) \\
 &\rightarrow H^1(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^1(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) \rightarrow H^1(\tilde{T}, N_{n\tilde{T}}) \\
 &\rightarrow H^2(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^2(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) \rightarrow H^2(\tilde{T}, N_{n\tilde{T}}) \\
 &\rightarrow H^3(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^3(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) \rightarrow H^3(\tilde{T}, N_{n\tilde{T}}) \\
 &\rightarrow H^4(\tilde{W}, \mathcal{O}_{\tilde{W}}) \rightarrow H^4(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) \rightarrow 0.
 \end{aligned}
 \tag{3}$$

So, it suffices to compute the cohomology

$$H^i(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T})) = H^i(\tilde{W}, \mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)),$$

where $\tilde{T}' := \tilde{T} + E = \varphi^*(T)$. There is a short exact sequence

$$0 \rightarrow \mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE) \rightarrow \mathcal{O}_{\tilde{W}}(n\tilde{T}') \rightarrow \mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}/\mathcal{O}_{\tilde{W}}(-nE) \rightarrow 0$$

which induces the following cohomology sequence

$$\begin{aligned}
 0 &\rightarrow H^0(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)) \rightarrow H^0(\mathcal{O}_{\tilde{W}}(n\tilde{T}')) \\
 &\rightarrow H^0(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}/\mathcal{O}(-nE)) \\
 &\rightarrow H^1(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)) \rightarrow H^1(\mathcal{O}_{\tilde{W}}(n\tilde{T}'))
 \end{aligned}$$

$$\begin{aligned}
 &\rightarrow H^1(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}/\mathcal{O}(-nE)) \\
 &\rightarrow H^2(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)) \rightarrow H^2(\mathcal{O}_{\tilde{W}}(n\tilde{T}')) \\
 &\rightarrow H^2(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}/\mathcal{O}(-nE)) \\
 &\rightarrow H^3(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)) \rightarrow H^3(\mathcal{O}_{\tilde{W}}(n\tilde{T}')) \\
 &\rightarrow H^3(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}/\mathcal{O}(-nE)) \\
 &\rightarrow H^4(\mathcal{O}_{\tilde{W}}(n\tilde{T}') \otimes \mathcal{O}_{\tilde{W}}(-nE)) \rightarrow H^4(\mathcal{O}_{\tilde{W}}(n\tilde{T}')) \rightarrow 0. \tag{4}
 \end{aligned}$$

To apply the Künneth formula, considering the push forward of these cohomologies via $\varphi : \tilde{W} \rightarrow W$, we have the following cohomology sequence

$$\begin{aligned}
 0 \rightarrow H^0(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) \rightarrow H^0(W, \mathcal{O}_W(nT)) \rightarrow H^0(W, \mathcal{O}_W(nT) \otimes \mathcal{O}/I_\Delta^n) \\
 \rightarrow H^1(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) \rightarrow H^1(W, \mathcal{O}_W(nT)) \rightarrow H^1(W, \mathcal{O}_W(nT) \otimes \mathcal{O}/I_\Delta^n) \\
 \rightarrow H^2(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) \rightarrow H^2(W, \mathcal{O}_W(nT)) \rightarrow H^2(W, \mathcal{O}_W(nT) \otimes \mathcal{O}/I_\Delta^n) \\
 \rightarrow H^3(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) \rightarrow H^3(W, \mathcal{O}_W(nT)) \rightarrow H^3(W, \mathcal{O}_W(nT) \otimes \mathcal{O}/I_\Delta^n) \\
 \rightarrow H^4(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) \rightarrow H^4(W, \mathcal{O}_W(nT)) \rightarrow 0, \tag{5}
 \end{aligned}$$

where I_Δ is the ideal sheaf of Δ .

Proposition 6. $H^i(W, \mathcal{O}_W(nT)) = 0$ for $i > 0$.

Proof. By the Künneth formula, we have

$$H^i(W, \mathcal{O}_W(nT)) = \bigoplus_{p+q=i} H^p(\tilde{\mathbb{F}}_3, \mathcal{O}(nD')) \otimes H^q(\tilde{\mathbb{F}}_3, \mathcal{O}(nD')),$$

where $D' = D + F$ and F is a generic fiber. Therefore, it suffices to show that $H^p(\tilde{\mathbb{F}}_3, \mathcal{O}(nD')) = 0$ for $p > 0$. It is clear that $H^2(\tilde{\mathbb{F}}_3, \mathcal{O}(nD')) = 0$ by Serre duality. So, it remains to show that $H^1(\tilde{\mathbb{F}}_3, \mathcal{O}(nD')) = 0$. Firstly, suppose that $n = 1$. The divisor D' is linearly equivalent to $2\tilde{s}_0 - \sum E_i^\pm$, where \tilde{s}_0 is the strict transform of the 0-section s_0 of \mathbb{F}_3 . Then, we have a short exact sequence

$$0 \rightarrow \mathcal{O}_{\tilde{\mathbb{F}}_3}(D') \rightarrow \mathcal{O}_{\tilde{\mathbb{F}}_3}(2\tilde{s}_0) \rightarrow \mathcal{O}_{\sum E_i^\pm} \rightarrow 0,$$

which induces the following cohomology sequence

$$\begin{aligned}
 0 \rightarrow H^0(\tilde{\mathbb{F}}_3, \mathcal{O}(D')) \rightarrow H^0(\tilde{\mathbb{F}}_3, \mathcal{O}(2\tilde{s}_0)) \xrightarrow{\psi} \bigoplus H^0(E_i^\pm, \mathcal{O}_{E_i^\pm}) \\
 \rightarrow H^1(\tilde{\mathbb{F}}_3, \mathcal{O}(D')) \rightarrow 0.
 \end{aligned}$$

Let us show that ψ is surjective. Let $f \in H^0(\tilde{\mathbb{F}}_3, \mathcal{O}(2\tilde{s}_0))$ be a global section of $\mathcal{O}(2\tilde{s}_0)$. On some local chart, we can write $f(x, y) = a_{0,2}y^2 + \sum_{i=0}^3 a_{i,1}x^i y + \sum_{i=0}^6 a_{i,0}x^i$. If $f(x, y) \in \text{Ker}(\psi)$, then $f(x, y)$ satisfies $f(t_j, v_j^\pm) = 0$ for $j = 1, \dots, 5$. Then we have the system

$$\begin{pmatrix}
 1 & t_1 & \dots & t_1^6 & v_1 & \dots & t_1^3 v_1 & v_1^2 \\
 1 & t_1 & \dots & t_1^6 & -v_1 & \dots & -t_1^3 v_1 & v_1^2 \\
 \vdots & \vdots & \ddots & \vdots & \vdots & \ddots & \vdots & \vdots \\
 1 & t_5 & \dots & t_5^6 & v_5 & \dots & t_5^3 v_5 & v_5^2 \\
 1 & t_5 & \dots & t_5^6 & 1 - v_5 & \dots & t_5^3(1 - v_5) & (1 - v_5)^2
 \end{pmatrix} \begin{pmatrix} a_{0,0} \\ a_{1,0} \\ \vdots \\ a_{3,1} \\ a_{0,2} \end{pmatrix} = 0.$$

Since $t_i \neq t_j$ for $i \neq j$, we can see that the coefficient matrix is of full rank. Therefore, ψ is surjective.

Secondly, we have the short exact sequence

$$0 \rightarrow \mathcal{O}((n - 1)D') \rightarrow \mathcal{O}(nD') \rightarrow N_{D'}^{\otimes n} \rightarrow 0,$$

which induces the following cohomology exact sequence

$$H^1(\widetilde{\mathbb{F}}_3, \mathcal{O}((n - 1)D')) \rightarrow H^1(\widetilde{\mathbb{F}}_3, \mathcal{O}(nD')) \rightarrow H^1(D', N_{D'}^{\otimes n}) \rightarrow 0.$$

So, it suffices to show that $H^1(D', N_{D'}^{\otimes n}) = 0$ for $n > 1$. By the Riemann-Roch theorem, we have

$$\chi(\mathcal{O}_{D'}) = -\frac{D' \cdot (D' + K_{\widetilde{\mathbb{F}}_3})}{2} = -1.$$

Since $(D')^2 = 2$, we have $\deg(N_{D'}^{\otimes n}) = 2n > \deg(\omega_{D'}) = 3$ for $n > 1$. Therefore, we get $H^1(D', N_{D'}^{\otimes n}) = 0$ for $n > 1$, and $H^1(\widetilde{\mathbb{F}}_3, \mathcal{O}(nD')) = 0$ for $n > 1$ by induction. □

Proposition 7. $H^i(W, \mathcal{O}_W(nT) \otimes \mathcal{O}_W/I_\Delta^n) = 0$ for $i > 0$.

Proof. We have exact sequences

$$\begin{aligned} 0 &\rightarrow \mathcal{O}_W(nT) \otimes I_\Delta^{n-m}/I_\Delta^{n-m+1} \rightarrow \mathcal{O}_W(nT) \otimes \mathcal{O}_W/I_\Delta^{n-m+1} \\ &\rightarrow \mathcal{O}_W(nT) \otimes \mathcal{O}_W/I_\Delta^{n-m} \rightarrow 0 \end{aligned}$$

for $m = 1, \dots, n - 1$. By the proof of Proposition 6, we have

$$H^i(W, \mathcal{O}_W(nT) \otimes \mathcal{O}_W/I_\Delta) = H^i(\widetilde{\mathbb{F}}_3, \mathcal{O}(2nD')) = 0$$

for $i > 0$. So, let us show that

$$H^i(W, \mathcal{O}_W(nT) \otimes I_\Delta^{n-m}/I_\Delta^{n-m+1}) \simeq H^i(\widetilde{\mathbb{F}}_3, \mathcal{O}(2nD') \otimes \text{Sym}^{n-m}(\Omega_{\widetilde{\mathbb{F}}_3}^1)) = 0$$

for $i > 0$. Consider the projective space bundle $\mathbb{P}(\Omega_{\widetilde{\mathbb{F}}_3}^1)$ associated to $\Omega_{\widetilde{\mathbb{F}}_3}^1$, and denote it by P . There is a natural projection π from P to $\widetilde{\mathbb{F}}_3$. On P , we have the line bundle $\mathcal{O}_P(1)$ and denote it by L .

Lemma 8. *We have*

$$H^i(P, \pi^*(\mathcal{O}(2nD')) \otimes L^k) \simeq H^i(\widetilde{\mathbb{F}}_3, \mathcal{O}(2nD') \otimes \text{Sym}^k(\Omega_{\widetilde{\mathbb{F}}_3}^1))$$

for $k > 0$.

Proof. By construction, we have that $R^1\pi_*L^k = 0$ and $\pi_*L^k \simeq \text{Sym}^k(\Omega_{\widetilde{\mathbb{F}}_3}^1)$. Therefore, the statement follows from Leray’s spectral sequence and the projection formula. □

We have that

$$\begin{aligned} K_P &\simeq \pi^*(K_{\widetilde{\mathbb{F}}_3}) \otimes K_{P/\widetilde{\mathbb{F}}_3} \\ &\simeq \pi^*(K_{\widetilde{\mathbb{F}}_3}) \otimes \pi^*(\wedge^2 \Omega_{\widetilde{\mathbb{F}}_3}^1) \otimes L^{(-2)} \\ &\simeq \pi^*(2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{(-2)}. \end{aligned}$$

Therefore, $H^i(P, \pi^*\mathcal{O}(2nD') \otimes L^k) \simeq H^i(P, \pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2} \otimes K_P)$. So, if $\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}$ is a nef and big line bundle, we get the result by the Kawamata-Viehweg vanishing theorem.

Firstly, let us check that this line bundle is nef. Let C be an irreducible curve in P . If $\pi(C) = p \in \widetilde{\mathbb{F}}_3$, C is linearly equivalent to the generic fiber of $\pi : P \rightarrow \widetilde{\mathbb{F}}_3$. In this case, we have that

$$\left(\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}.C \right) = k + 2 > 0.$$

Next suppose that $\pi(C) = C'$ is a curve on $\widetilde{\mathbb{F}}_3$. Since $\text{Pic}(\widetilde{\mathbb{F}}_3)$ is generated by \widetilde{s}_∞, F , and E_i^\pm ($i = 1, \dots, 5$), it is enough to check the case that C' is one of these. If $C' = \widetilde{s}_\infty$, then $(\pi_*L.\widetilde{s}_\infty) = \text{deg}(\Omega_{\widetilde{\mathbb{F}}_3}^1|_{\widetilde{s}_\infty}) = (K_{\widetilde{\mathbb{F}}_3}.\widetilde{s}_\infty) = 1$, and $(2nD' - 2K_{\widetilde{\mathbb{F}}_3}.\widetilde{s}_\infty) = -2$. Therefore,

$$\left(\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}.C \right) = rk > 0,$$

where r is some positive integer.

If $C' = F$, then $(\pi_*L.F) = \text{deg}(\Omega_{\widetilde{\mathbb{F}}_3}^1|_F) = (K_{\widetilde{\mathbb{F}}_3}.F) = -2$, and $(2nD' - 2K_{\widetilde{\mathbb{F}}_3}.F) = 4n + 4$. Therefore,

$$\left(\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}.C \right) = 2r'(2n - k) > 0,$$

where r' is some positive integer.

If $C' = E_i^\pm$, then $(\pi_*L.E_i^\pm) = \text{deg}(\Omega_{\widetilde{\mathbb{F}}_3}^1|_{E_i^\pm}) = -1$, and $(2nD' - 2K_{\widetilde{\mathbb{F}}_3}.E_i^\pm) = 2n + 2$. Therefore,

$$\left(\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}.E_i^\pm \right) = r''(2n - k) > 0,$$

where r'' is some positive integer. Thus $\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}$ is a nef line bundle.

Secondly, let us check that this bundle is also a big line bundle. From the definition of Chern classes, we have

$$L^2 - \pi^*c_1(\Omega_{\widetilde{\mathbb{F}}_3}^1).L + \pi^*c_2(\Omega_{\widetilde{\mathbb{F}}_3}^1).f = 0,$$

where f is a generic fiber of π . Since $c_1(\Omega_{\widetilde{\mathbb{F}}_3}^1)^2 = -2$ and $c_2(\Omega_{\widetilde{\mathbb{F}}_3}^1) = 14$, we have $L^3 = -16$, and

$$\left(\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2} \right)^3 = 24kn^2 + 48n^2 - 16k^3 - 84k^2 - 168k - 128.$$

This is positive if $n > 3$. Thus, $\pi^*\mathcal{O}(2nD' - 2K_{\widetilde{\mathbb{F}}_3}) \otimes L^{k+2}$ is a big line bundle, and this completes the proof. \square

Proof of Proposition 2. We have that $H^0(M(-1)^0, \mathcal{O}) = \mathbb{C}$ by Corollary 4.7 and Lemma 5.2 in [4]. By using Proposition 6 and 7, we have that

$$H^i(W, \mathcal{O}_W(nT) \otimes I_\Delta^n) = 0$$

for $i > 1$ and $n > 3$.

From the cohomology sequences (2), (3), and (4), we get $H^i(U, \mathcal{O}_U) = 0$ for $i > 1$. Since $U/\mathfrak{S}_2 \simeq M(-1)^0$, we have $H^i(M(-1)^0, \mathcal{O}) = 0$ for $i > 1$. \square

References

- [1] Arinkin, D., Lysenko, S.: On the moduli of $SL(2)$ -bundles with connections on $\mathbb{P}^1 \setminus \{x_1, \dots, x_4\}$. *Int. Math. Res. Notices* **19**, 983–999 (1997)
- [2] Hartshorne, R.: *Algebraic Geometry*, Graduate Texts in Mathematics, vol. 52. Springer, New York (1977)
- [3] Hartshorne, R.: Local cohomology, A seminar given by A. Grothendieck, Harvard University, Fall, 1961. In: *Lecture Notes in Mathematics*, vol. 41. Springer, Berlin, vi+106 pp (1967)
- [4] Matsubara, Y.: On the cohomology of the moduli space of parabolic connections. *Manuscripta Math.* (2019). <https://doi.org/10.1007/s00229-019-01161-6>

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.